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QUESTION 1

What are two available methods to perform storage provisioning and configuration using RAID Manager/ CCI? (Choose
two.) 

A. in-band using FC 

B. CU using the SVP 

C. Storage Navigator CLI 

D. out-of-band using TCP/IP 

Correct Answer: BC 

 

QUESTION 2

Which component in the VSP Gx00 series provides the CFM and the cache with power In case of power outage? 

A. Backup Module 

B. Battery Module 

C. Cache Module 

D. Power Module 

Correct Answer: B 

 

QUESTION 3

What does Universal Volume Manager (UVM) allow on the VSP Gx00 systems? 

A. to create virtual servers 

B. to use MPs on the attached disk storage 

C. to create LUNs on the attached disk storage 

D. to map disk space from the attached disk storage 

Correct Answer: A 

 

QUESTION 4

What are two supported back-end transfer speeds on the VSP Gx00 series? (Choose two.) Choose 2 answers 

A. 4 Gb/S 
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B. 6 Gb/s 

C. 8 Gb/s 

D. 12 Gb/s 

Correct Answer: BD 

 

QUESTION 5

Which two mechanisms are used to maintain redundancy after a disk failure? (Choose two.) 

A. quick copy 

B. correction copy 

C. dynamic sparing 

D. emergency destage 

Correct Answer: AB 
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